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DAF 98 IS DEDICATED:
L'ZECHER NISHMAS SHAINDEL BAS MOSHE LEIB

Deadline for this quiz is Monday, April 4th, 2022, at 11:59pm

PLEASE NOTE: JPG's will now be accepted. Send in only the one-page answer sheet. Email to
tests@dafaweek.org. Incentives offered for CLOSED-GEMARA ONLY
See further instructions below and on last page

1. What n'&1 does the Xna bring from the case of Dmixn 'nx?
A. That the reason for mxn7 ax |'N is because nnt 'alLY
B. That we say "xn% aN |'N even when they were nwITpa IMIN
C. That the reason for Mxn% AN |'N is because DNNAT 0'OI0 NNT
D. None of the above

2. What assumption did the Na1n2 make when it brought the n'™x1 from INXN I'NN MWK RYIW a0 D1DOI?
A. That 0"ban and his brother shared the same father
B. That n"vba1’s brother was 1"an before getting married
C. That n"ba1’s brother was 1'"an before n''va'a was 1'n
D. None of the above

3. Which of the following statements is TRUE regarding the mxn I'nN NWX Xwaw 0'N 12121737
A. He had seven children
B. He asked nxa'jpy 121 permission to marry
C. Both of the above
D. Neither of the above
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N2l N2%70 NN DN T'A%N 72 217 K X110 271 1IN AN 20 IRKRNL... How many answers does the X1na give to this
question?
A 1

B. 2
C. 3
D. 4

How many times did Hashem speak to nai' regarding niaa?
A 1
B. 2
C. 3
D. Thisisanpi?nn in our XNNa

Why does the xn'a (at the bottom of N Tinv) say &'xI' ORN [N ININK RW27?

A. Since she was nwITpa NNTY, she is considered as a regular sister

B. Since she could be confused with a future sister that is nwITpa NNTY

C. Since she could be confused with a sister that is both oxn [n1axn N MiNx
D. None of the above

Which of the following choices is a npi?nn in the NnmMA21?
A. I'NRNWN

B. axn nminx

C. DNNnANNNINK

D. axnnoxnninN

Which of the following choices best describes the example in the ¥n'2 of nnal nwr xwa?
A. A non-Jew married an nnal nwX and they were all 1'"an together

B. An nnai nwN were 1N and now a 12 wishes to marry them both

C. An nnalnwx were 1"an and now a regular 78w wishes to marry them both

D. All of the above

[NMIT21 127VNIY 0'w wnn what is the minimum amount of sons that were born to these women?
A 5
B. 9
C. 10
D. 15

In the case of the nawn, is it possible for one person to do DIa! to all the nian7~?
A. No

B. Yes

C. Thisis anpionn in the x\na

D. This is a question that remains unresolved
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TEST INSTRUCTIONS

- Deadline for this quiz is Monday, April 4, 2022, at 11:59pm

- We will only grade and offer incentives for bechinos taken with a closed Gemara. We
encourage those who prefer to continue taking the test with an open Gemara. The answer key
will be published after the deadline.

- Send in only the one-page answer sheet. Email to tests@dafaweek.org

- We try to mark n11 *ma within a week or two of receipt.
- The financial incentive is $5 for closed-Gemara with a score of 90 or greater.

- Currently we issue certificates to Z. Bermans , Z Bermans Online and Tuvia's in Monsey. Please
note, Z. Bermans stores do not honor online certificates.

- Itis our goal to bl'n send financial incentives once every month or two.

- The incentives are specifically offered to increase learning & n17mamong n*na "'zva. We also
welcome students or yungerleit who participate in a nn1aw v1awn q7. Call us at (507) DAF
WEEK (323 9335) with any questions.
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ANSWER KEY FOR DAF 98 - SEND BACK ONLY THIS PAGE

Full Name

Email Address (required)

Was this your 1st ever n1ma?
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